REVISIONS
[> notes = | e m o
[Wioos v 171872081 | TLC
1. NON-IMPACT RESISTANT OPTION — .125 u [ase7/21 [ TIC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
SN s ST eAGr RESSTT 0 soes
IMPA Al
NOT MEET THE REQUIREMENTS Fi 13 GA HORIZ ANGLE \
WIND—BORNE DEBRIS REGIONS.
2. IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM MAY BE € DOOR |
INSTALLED IN INTERMEDIATE SECTIONS (WTH
OR WITHOUT DECORATIVE INSERTS). GLAZING 15 GA MIN HORIZ
SHALL BE 1/4° POLYCARBONATE. MAXIMUM TRACK 4]
GLAZING DIMENSIONS SHALL BE 11° x 17", ﬂ 1
FASTENED WITH A MINIMUM #8 X 1° SMS:_3X 13 GA CONTINUOUS
ALONG THE HORIZONTAL AND 2X ALONG THE WALL ANGLE .
VERTICAL. : . J,
H > 1
3. ALUMINUM_ FULL VIEW OPTION — ALUMINUM H - ! ] [
FULL VIEW SECTION MAY REPLACE ANY 15 GA MIN_VERT ~ * 9 \ J o g
SECTION EXCEPT TOP AND BOTTOM PANELS. TRACK \ . . 0] <
R SR ! it
Al ALUMINUM . . : H
ALLOY 6063-T6 AND .125" MINIMUM DSB 5/16"x1-5/8 1 20 GA CENTER STLE— | H
GLAZING INSTALLED WTH ALUMINUM LAG SCREW AT EACH | Ko
RETAINERS IN ORDER TO MEET UNIFORM HOLE LOCATION FOR n
STATIC DESIGN PRESSURES SHOWN ON THIS WOOD SUBSTRATE. SEE
DRAWING. AFV PANEL SIZE IS 47.5"x21.9" SHEET 3 FOR MOUNTING W 18
(MAX) GLAZING IS NOT IMPACT RESISTANT TO OTHER SUBSTRATES. N =
AND DOES NOT MEET THE REQUIREMENTS FOR :
WIND—BORNE DEBRIS REGIONS. ] i X
: ~ / ¢
4. MINIMUM_OF 1° OVERLAP ON BOTH JAMBS H - L L1
REQUIRED TO MEET NEGATIVE DESIGN 1/4-20x9/16" TRACK H
PRESSURES. BOLT AND 1/4—20 HEX N . 0] 9
NUT AT EACH TRACK H i 4
5. SUDE LOCK OR OPERATOR REQUIRED. CUP LOCATION H m
6. SECTION STEEL TO HAVE THE FOLLOWING (SEE DETAIL A SHEET 3) 20 GA WOOD FILLED SHEET 2/ o
MINIMUM_THICKNESS: _/ END STILE :
421,423 - 20 6 11 GA TRACK CLIPS : A
434, 436 — 25 GA (WELDED, BOLTED, OR o
RIVETED TO WALL H :
7. THE DESIGN OF THE SUPPORTING ANGLE) SEE NOTE 8 AND L
msrpgmm_ ELEMENTS SHALL BE THE DETAIL F SHEET 3 i L&
Pt g A SLIDE LOCK BOTH ENDS—!| et
RNbN, AGGORDANGE WIT GORRENT BULDING (NOT REQUIRED WITH !
CODES FOR THE LOADS LISTED ON THIS OPERATOR — SEE NOTE 5) 1 O
DRAWING. 3 H 1 28
8. TRACK CLIPS SHALL BE LOCATED WITH
GENTERLINE OF BOTTOM CLIP SPAGED 10° &
AX FROM BOTTOM OF TRACK AND REMAINING T
TRACK GUPS SPAGED AT 24' O.C._NAX. H ]
BETWEEN TOP TRACK CLIP AND 1 L
SPUCE PLATE SHALL BE 30° 0.0, MAX. , 2
9. WHEN MOUNTING TO WOOD, DOOR JAMB_TO ] <
BE MINMUM 216 STRUCTURAL GRADE LUMBER. H &
REFER TO JAMB CONNECTION SUPPLEMENT H A
FOR, ATTACHMENT 10 SUPPORTNG H l
STRUCTURE. (4) SECTION SOLID DOOR . Kd °
SHOWN. SEE SHEET 2 FOR U—BAR H 33
LOCATIONS ON DOORS WITH OTHER H o
SUPERIVPOSED DESICN PRESSURE scton qumrtes i s ote | | 192 /) 3
LOADS ON SUPPORTING STRUCTURE OPTIONS. W
MAX | DooR [ MAX UNIFORM LOAD EACH JaMB - i
DOOR
o | HEIGHT (PLF)
16-2"| AL +255.4/-286.1 FC S AN

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +31.6/—35.4

MAX WIDTH: 16'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

133174
Op:

(] .(/ QO
|‘ oo /CENS®-

8

7 I

s

‘\\ N 5;\33\: N

Digitally signed
. by John Christian
tian Voelkel

Date: 2021.05.03
el 102940-0500

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

DRAVINGS AND ALL OTHER INFORMATIDN CONT/

REF_DWG

ruvmmmmmmumrrsmum

WITHOUT THE PRIOR WRITTEN CONSENT DF

THE ARETIEmI‘I‘IALANDPﬂPR]EI’WPWTY COMPANIES.
umnmmmu.mvm.:mmpm,mvumrmm:nmm MANNER DR DISCLOSED TO ANYONE OVERHEAD DOOR MAT.IDN. mnm.usunnr
ANY INTENDED TO IIIISBIT I‘.IVEH'EA'II

OF THIS IRAVING OR INFORMATIN 1§ DPCRATE 45 A LIGENSE (R AUTMIRIZATION 1O USE IT FIR Ay PURPOSE VITHINT THE SPECFIC VRITTEN DR CORPORATION
m UMLESS OTHERVISE SPECIrIED FINISH The Genmin e Chriginad. DATE
o — VINH.DAI'I,DP'I'EIN CODE 2046

IER es1 FIT| es + 25 N/A ; ™ Clark | 114721 421/423/487/429/434/436,

231 T0 500 +006/-003 | x + 1 [UNIT OF | wreeas ReCKDD Bn ~334 PSF, 1627 MAX

visamo wa vias | OVER 500 +008/-003 xx + 03 | MEASIRE J QIAN 1/8/21 o
S LS TORY XXX + 010 N/A APPROVED B s D- 411800
USED DN * 1/16 aNGLES ¢ S5 | EA T CLARK | 8717721 |S5—N7a  Jswrl = 3

1 4


chris
Texas


1/4—20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLI

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER, ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS

3" STEEL ROLLER WMITH 7/16" DIA.
x 9" LONG STEM AND 7/18
PUSH NUT AT TOP ROLLEI
LOCATION. 1/4" MAX BETWEm
PUSH NUT AND BRACKET.

ADD (2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HING

2" STEEL ROLLER WITH r
§-1/8" STEM AND 7/16" P
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX ¢
BETWEEN PUSHNUT AND !
BRACKET OR HINGE ;

11 GA MODIFIED WIDE BODY
END HINGE ATTACHED WTH
(4) 1/4-14x7/8" SELF

DRILLING CRIMPTITE SCREWS

/_
\

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF

(2) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

HALF HINGE
(2) 1/4 x 1/2"

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

(12) SECTION DOORS WITH
(18) 3" 18 GA 80 KSI U—-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(17) 3" 18 GA 80 KSI U-BARS
OCATED AS SHOWN

(10) SECTION DOORS WITH:
(15) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(14) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(12) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(1) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(9) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(8) 3" 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(6) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

g&UE.‘I'I)lSG CRIMPTITE = =

SOLID SECTION AFV SECTION

DETAL D
12 GA BOTTOM BRACKET /] RN
ATTACHED WITH (3) - -,
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS
DETAL E
és\\\‘

- OF T\,
‘-«V:‘.'E..-.-oo- E

4

% J.C.VOELKEL
MAX WIDTH: 16—2" " .
MAX _HEIGHT: 24'—1" (Ae°’XN 133174

MAX SECTION HEIGHT: 24 '.'p

STATIC PRESSURE RATINGS
DESIGN PRESSURE(PSF): +31.6/—35.4

APPROVED SIZES

IMPACT/CYCLIC RATED: YES

O a(/C eo.'
8 7 | W ENS

s

\SsionaL B

l
*'l'
J
3

i

ATTACH U-BARS WITH
(4) 1/4—-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

AND INFDRMATIDI
ANY DF THIS DRAVING DR

THE TRAVINGS aND UL TITHER FTRMATION CTNT P CONFTCENTIAL D PRIFRIETARY PRIPERTY OF INERFEAD IOHR CIRFORATION AND TTS FFILIATED COMPANIES,
n,mvm.:mmpm,mvum!mm:nmmvwnm TO AV VITHIT THE PRIDR VRITTEN CONSENT [F IVERIEAD OUER CORPLRATION 0 DISCLOSURE D
JETRMTIN 1§ INTENDED T0 DPERATE AS 4 LICENSE (R AUTHIRIZATION 0 USE IT FIR ANY PURPOSE VITHINT THE SPECIFIC VRITTEN CINSENT [F IVERHEAD DOLK CORPIRATION
. € The tGemmine. The Crigial DATE
e, e mu.mn OPTION CODE 2046
Py P CLark | 114721 431/423/427/429/434/436,
6/-354 PSF, 16'-2* MAX
reTeRin RIAN 1/8/21
N/A ‘APPROVED BV, &ua D- 411800
T CLARK | 8/17/81 o 7p— Jemip o 3



chris
Texas


8 7 6 S 4 3 2 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: £60XX MIN DLO= 5"X20"
TRACK CLIP
. OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4—20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
1/4—20 HEX NUT- EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
e e,
LOCATION FOR WOOD
SUBSTRATE.
MOUNTING WALL
TRACK
1,
PLASTIC FRAME % oLr A
1/8" ANNEALED DSB GLASS (MIN) s
DLO= 5 3/4"X22 7/8" -
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
3 (54 unimséu
BLASTIC FRAME (INSULATED
SCAB BR (OPTIONAL)

CONTINUOUS
WALL ANGLE

(2) 1/4 X 718f
SEMI TUBULAR
RIMTS OR (2) |
1/4"—20 TRACK \
BOLTS WITH NUTS™,
OR (2) .28" DIA

RESISTANCE SPOT
WELD

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 16'-2"

DESIGN PRESSURE(PSF): +31.6/—35.4
SIGN PRESSURE(PSF): +31.6/=35.4 1 o\~ FIGHT, 241

IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24

3/8" SINPSON TITEN HD,
2-3/4" MIN_EMBED INTO
NIN 2000 PSI CONCRETE

THE DRAVINGS AND ALL DTHER INFDRMATION CONT,

AND
ANY DF THIS DRAVING DR

133174

L10ENSER

8 7 |

*teececss O\
s

REF_DWG

Tl AINED HEREIN ARE THE
INFORMATION, IN VHOLE R IN PART, MAY NOT BE COPIED IN ANY MANNER OR
INFORMATION IS INTENDED

AND PROPRIET/

3/8" SIMPSON TITEN HD,
2-3/4" NIN_EMBED INTO
MIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION:

TRACK cLP
RSl
1/4-20 HEX NUT-
TRACK.

NN _3/16" THCK
STEEL FOR MOUNTING:

MOUNTING WALL ANGLE-

MOUNTING TO STEEL DETAL

'ARY PROPERTY_
ANYDNE VITHOUT THE PRIDR VRITTEN

-QPTIONAL: WALL
SUPPORTING STEEL WITH MIN. (1) 1/4~20x7/8"

SELF DRILLING SCREW
EACH HOLE OR PAIR OF Hi
LEU OF WELDING

ANGLE MAY BE ATT/

WALL ANGLE FACING
INWARD

JACHED TO_

WITH 1* 0.D. HASIE;‘AT

OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED COMPANIES. THIS
DISCLOSED T CONSENT OF OVERHEAD DOOR CORPORATION NO DISCLD:
TD OPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIF] CONSENT OF OVERHEAD

IOLE LOCATIONS

IRAVING
ISURE OF

IC_ VRITTEN DOOR CORPORATION.
NOE DATE DRAVING TITLD
[ | ..., ,.. |YINDLOADOPTION CODE 2046
* T CLARK | 1714721 431/423/427/429/434/436,
: 6/-354 PSF, 16'-2° MAX
by RIAN v8/21
4 T CLARK 2/17/2\ o \/A [s=3o3

1



chris
Texas


		2021-05-03T10:29:40-0500
	John Christian Voelkel




